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Math261

1. Compute the following.
p
vo ffy= 4" <2 W= ule) T~ lg[ed e ]
<a)c{f<t>}wheef<t)—{t2 e TH= U ) i1

Hy- v, [(t'z)L FQ{“"@ ”Q "7] - UL(U( (-2 1 4le-2) 1 ‘(>

L ipelpe (7 (e ife -

<b>ﬁ{g(t)}whereg(t):{jomt o (u )3+ dgle) ceelt)

S u )2 s ugle) @s(lemen) - B@A&g@,@@t 3w )3 Uy le)os(tn)

-2 uﬂ,u)(i I (og(f:«-w))

3 =TS ‘ .
Syl 703 2ot} - - 2P vt
Tees) sy ) e )

(s+3)2'+ |

ey - AR
) é.-zeaz"{.;%\% — U4 ¢) Z"f(‘;f‘yﬂﬁ(ﬁ

-3 ‘ -2 \
- '€, S [t) - d§(&)(€ Swlﬁ))2b~3

I Sies)
-le. ts\w(i) —uﬁce)e SM

3)

@ £ oy |

_?é;_.m_——v: _/_l_lt?—— »%_& [{044_({? :@jg
(&LN)(S'L%SHO) S5 | ST le ':[A+QB ~ 1
(Ao ﬂs Vs +io) T QW.)(S&H); el 3?5 { W 5‘3{,
A~ .3z _3
2 39

Sow (Az’»» 8)<~héz+le) L0 = B l/;
<B¥Ai)<q4é’l> = B4t | g A8 -
(98 -6A)  + (A +(Rh =B+ f e PG 3




[(d) canbiuved
(ds +B)( s> +sti0) + (s +D)s™v 1) = =S /415% 8:—3%;/—,

(Awtdg?’ + [M‘L@ D) ; + '04*"8“) s (6B +D) -

/

Wt meefed m
= S 3 A= = -3
C=h= = 39 39
. 2 - = -20
§'o kgad=c, D 0BT =g P-5 D= =7
g -z : .
S( = =7 = —Agg{ﬁg%
(s + (5" +(s 1) —= .+ —
>+ (s+2)7 +1
l ) : '
) = 4+ 2.5 - 3540
B 3?( 5 S+ 2 SZH m)
| 5 b 3(s+3) + W
- > ot
31 (3‘ s tlen (S+3)"+ | )
- ,L_ _ S+3 ' J
3 (5 S5 + 2 ST+ 5 (s+3)+1 I (5341 )

o %\‘_‘ e < - S

s

_ S .
az (Z ($2+()(52+é3+(0)§ :5 g%‘(S €os(t) +2sult) ‘Segtaxs(ﬁ) ~lle 7 awm (t)) /




Math261 Worksheet 11 November 11, 2014

2. [6.4.13] Solve y 4 5y 4+ 4y = 1 — u,(t) with y(0) = &/ (0) = v (0) = y®(0) = 0.
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